Multiply 2 Digits by 1 Digit

1. Circle the odd one out.

T o)

000 00
900 00
A. 900 00 B. x 7 C.

2. Complete the comparison statement using the <, > or = symbols.

_ 3 3 4 1
o000 | 900 ; 5
o000 | 000 | X 5 X 3 [eeee| o
e00 | 000 o000 o
e00 | 000 o000 o
e00 | 000

3. Is Cerys correct? Explain your answer.

If | multiply a 2-digit number by a 1-digit
number using the digit cards below, the
smallest number | could make is 75 and
the biggest number | could make is 315.

Classroom D)  Visit kids.classroomsecrets.co.uk for online games to support learning.

secrets
© Classroom Secrets Limited 2020  JOIN OUr o Group: Coronavirus Home Learning Support for Teachers and Parents



